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Qu. Answers Mark Part Marks 

1 (a) –5  

 

(b) 11 

1 

 

1 

 

 

2 %482380.4

11

53

>>>  2 M1 for decimals seen 

4.7958…    0.48     (4.80)     4.81(…)      

3 500 2 M1 for 600 × 0.6 ÷ 0.72  seen 

4 70 2 M1 for 252 × 1000 ÷ 60 ÷ 60  oe 

5 18 2 M1 for 21.6 ÷ 1.2  oe 

6 x + 8 2 M1 3
8

  seen 

7 

 

2 B1 for one correct  Venn diagram 

 

 

8 

6

35 −x

 2 B1 for 5x – 3  seen 

SC1 

6

3

6

5

−x  on answer line 

9 5(.00) × 10
5 

2 SC1 for 5 × 10
k

 or 500 000 on answer line 

10 220.5 cao 2 M1 for 73.5 seen 

11 16.8  3 M2 tan17 = 

55

h

  or tan73 = 

h

55

 

or M1 tan17 = 

h

55

 or tan73 = 

55

h

 if angle seen in 

wrong place at P 

12 9 – 2x
2

 3 B1 for x
2

 – 3x – 3x + 9  or  2x
2

 – 6x – 6x + 18   

B1 for 4x
2

 – 6x – 6x + 9  or  –4x
2

 + 6x + 6x – 9 

13 (a) 0 

 

(b) 2 

 

(c) plane across centre of shape 

1 

 

1 

 

1 

 

 

 

 

Three possibilities 

14 6 3 M1 for one correct first step which leads towards 

simplifying  

9

2

123 =+−

y

y   

or 6(y – 4) + y = 18  

or y – 4 + 

6

y

 = 3 

M1 correctly collecting their  terms to py = q 
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Qu. Answers Mark Part Marks 

1 (a) 1 

 

(b) 1 

1 

 

1 

Allow none 

2 0 2 M1 4sin
3

120 evaluated and rounding to 2.6 or 

better (2.598…) or 

2

33

 

3 2 – 3 , 2 –

2

3

, 

3

2

, 3
 

2 M1 correct decimals seen 

4 

40

3215 +a

  oe 2 B1 15a + 32  seen  

or SC1 

40

32

40

15

+

a

 on answer line
 

5 2
10 

2 M1 2
6

 or 2
–4

 seen 

6 6.4 × 10
7 

2 M1  64 × 100
2

 × 10
2

 or 64 000 000 oe 

7 (A ∪  B ∪  C)'  

(A ∪  C)' ∩  B   

1 

1 

or  A' ∩  B' ∩  C'  or  A' ∩  (B ∪  C)'   

or  A' ∩  C' ∩  B 

8 (a) 43 to 47 

 

(b) 64 to 68 

1 

 

2 

 

 

SC1 23 to 27 

9 63.84 cao 3 M1  figs 1995 

M1  32 × their lower bound  

10 

1

3

−

=

P

x  4 M1 for each of the four moves completed 

correctly  

11 (a) 10(.0..) 

 

(b) 9.80  

1 

 

3 

 

 

M2 √((a)
2

 – 2
2

) or M1  PT
2

 + 2
2

 = (a)
2

     

12 (a) 440 

 

(b) 3 min 20 sec 

2 

 

2 

M1 sin 37.1 or cos 52.9 = 
730

h

  oe 

 

M1 

65.3

730

 

13 (a) ⎟
⎠

⎞
⎜
⎝

⎛

+

−

54

36

x

x

 but not ⎟
⎠

⎞
⎜
⎝

⎛

+

−

5)(4

36

x

x

 2 B1 6x – 3 or B1 4x + 5 in a (2 × 1) matrix on 

answer line 

 (b) (6x
2

 + x + 5)  cao 2 M1 any 1 × 1 matrix in answer space
 

14 

 

4 

 

Mark the position of the letter R (or the worst 

unshaded region if R is missing) as follows 
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14 
(a) 84 

 

(b) 15 

 

(c) 6.28 

1 

 

1 

 

2 

 

  
M1 3π2

360

120

×××   oe 

15 

)5)(1(

31

++

−

xx

x

   www 

4 M1 (x + 1)
2

 – x(x + 5) oe B1  x
2

 + x + x + 1 

B1 denominator(s) (x + 1)(x + 5) 

                            or x
2

 + 6x + 5 

16 (a) 
2

1

a – 
2

1

c oe 

 

(b) 
4

3

a + 
4

3

c oe   

2  
2 

M1 correct but unsimplified  e.g. 
2

1

a + – 
2

1

c 

 

M1 correct but unsimplified 

17 

(a) 4x
–24

 or 
24

4

x

 

 

(b) 

16

2

x

 

 
2 

  
2 

B1 4x
n

 B1 
24

x

k

 or  kx
–24

 for any numerical k, n 

 
B1  

k

x
2

  or  B1  

16

n

x

   SC1 (

4

x

)
2 

18 (a) (6, 1½)  

 

(b) y = – 
5

1

x + 4 oe 

1 

 

 
3 

 

 

 

B1 correct numerical format B1 correct m   

B1 correct c 

19 (a) 8 

 

(b) 4x – 9 

 

(c) 2
2(x + 1)

 or 2
2x + 2

 or 4
x + 1 

1 

 

2 

 

2 

 

 

M1 2(2x – 3) – 3 seen 

 

M1 (2
x + 1

)
2

 seen 

20 (a)  (i)  

 

 

 (ii)  

 

                 R 

 

 

(b)  

2 

 

 

2 

 

 

 

 

1 

B1 correct line 

B1 2 sets of correct arcs 

 

B1 correct line 

B1 two sets of correct arcs  

 

 

 

correct region, shaded or shown by the letter R  

21 (a) (i) ( )0  brackets essential 

 

 (ii) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−− 128

1812

 

 

(b) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−

−

31

11

2

1

 

2 

 

 

2 

 

 

 

2 

M1   6 × 2 + 3 × –4 or 12 + –12 

 

 

M1 any 2 × 2 matrix with 2 elements correct 

 

 

B1  
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

db

ca

2

1

seen 

or 

 

B1 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−

−

31

11

k  seen 
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12 

d

x−840

 or 

d

x

d

−

840

 

3 M1 400 × 2.1 

M1 “400 × 2.1” – x 

13 

 

 

 

 

 

 

 

 

 

            R 

 

 

 

3 Give the mark for R shown in region below 

 

                          2   

 

                  3                  1     

                          2   

  

     2                  1                 0 

 

14  y = 4x + 1 3 B1 correct numerical y = mx + c 

B1 c = 1  

B1 m = 4 

15 4.94 3 M1 π r
2

 × 12 = 920 

M1 (r
2

) = 

)12π(their 

920

×

 

16 

)2)(2(

25

+−

−

xx

x

 

3 M1 2(x + 2) + 3(x – 2) seen 

B1 (x – 2)(x + 2) common denom. seen 

17 (a) 

 

 (b) 

4.5(0) 

 

200 

1 

 

2 

 

 

M1 0.5
3

 or 2
3

 seen  

18 (a) 

 

 (b) 

27x
9 

 

25x
4

 

2 

 

2 

B1 kx
9

 or 27x
n 

 

B1 kx
4

 or 25x
n 

19 (a) 

 

 (b) 

32 

 

37.5 

2 

 

2 

B1 figs 32 or 1 cm to 2.5 km or 8 000 000 seen 

 

B1 (figs 25)
2

 seen or figs 375 in answer 

20 (a) 

 

 (b) 

 

 (c) 

 

 (d) 

35 

 

55 

 

55 

 

125 

1 

 

1ft 

 

1ft 

 

1ft 

 

 

90 – (a)   but b > 0  

 

= (b) 

 

180 – (c) 

21 96 www 5 M1 3
2

 + 4
2

 

A1 5 

M1 ½ × 6 × “5” (= 15) 

M1 4 × their triangle area + 6
2
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11 x = −7 

y = 9 

3 M1 for consistent multiplication and addition/ 

subtraction as appropriate.  Allow computational 

errors 

 

A1 for  x= –7  or  y = 9 

 

12 

30

27

30

55

+  oe or 

30

27

30

25

)1( +  oe 

 

30

82

  oe  or  

30

52

)1(   oe 

 

15

11

2   M2 must be scored  

 

M1 

  
M1 

  
A1 

 

for denominator of 30k 

  
for denominator of 30k dependent on previous M1 

  
If M0 scored then SC1 for common denominator of 

30k seen  

13 1.92 3 M1 
2

x

k

y =  oe        B1 for k = 48 

14  

 

 

3 

 

15 (a) 

 

 (b) 

34.4 

 

300 

2 

 

2 

SC1 figs 344 seen 

 

SC1 figs 3 seen 

16 (a) ⎟

⎠

⎞
⎜

⎝

⎛−

3011

21

 2 B1 any two entries correct 

 (b) ⎟

⎠

⎞
⎜

⎝

⎛ −

53

24

26

1

  oe 2 B1 ⎟

⎠

⎞
⎜

⎝

⎛

dc

ba

26

1

  or  ⎟

⎠

⎞
⎜

⎝

⎛ −

53

24

k  

 
17 

1

34

−

−

=

c

c

w   www 

 
4 

 
M1 clearing denominator and removing brackets 

M1 correctly collecting terms in w on one side only 

M1 factorising correctly 

M1 divide by coefficient of w 

18 (a) 

 

 (b) 

0.8 

 

1850 

1 

 

4 

 

 

M1 for area = distance travelled 

M1 for two correct area statements 

M1 for complete correct area statement 

2 

1 

3 1 

2 0 

2 

R 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied  
Qu Answers Mark Part marks 

1 Wednesday 

22 15 or 10 15pm 

2 B1 

B1 

2 (a) 

 

 (b) 

I   cao  

 

I N   cao 

1 

 

1 

 

 
3 x – 5   

5

x

   

x

5

   5x    

 
2 

 
M1 evaluating all 4 expressions for one value in 

the range. (1 and 2 are out of range)  

4 25 (correct working essential)  2 M1 for 18 + 4 + 3 with denominator 12 must be soi 

(oe is possible) 

5 64000 or 6.4 × 10
4

 2 SC1 for 63800 or 6.38 × 10
4

 or figs 64 or 6.4 × 10
k

 

in answer space. 

6 1, 2, 3, 4  3 M1 10x < 45   A1 x < 4.5  

7 4.46 or 4.456 to 4.459 cao 3 B1 for 28 seen 

M1ft for 

π2

28their

oe or better. 

8 13500   408  3 M1 135 × 10
2

 or 408000 ÷ 10
3

 oe A1 A1 

9 452  3 

M1 tan 78.3 = 

4.58

x

 

M1 “282” + 170 

SC2 282 in answer 

space 

10 (a) 

 

 (b) 

50  

 

15 

1 

 

2 

 

 

M1 finding area under graph   SC1 15000  

11 196 3 M1 y = k(x – 3)
2

 

A1 k = 4 M1 y = 

k

x
2

)3( −

 

A1 k = 

4

1
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12 (a) 

 

 

 

 

 

 (b) 

12

4

12

11

−   oe 

12

7

  cao  ww 0 

 

11

13

4

1

×   oe 

44

13

  cao  ww 0  

 

2 

 

 

 

 

2 

 

 

 

M1 correct use of a common denominator 

 

 

A1 

 

 

M1 inversion and operation change 

 

 

A1 

13 (a) 

 

 (b) 

71 

 

3v (u + 3w) final answer 

2 

 

2 

M1 for 7×8 – 3×–5 or B1 56 and –15  

 

B1 for 3(uv + 3vw) or v (3u + 9w) 

As final answer 

14 (a) 

 

 
 (b) 

64p
3

q
6

 

 

0.5x
–2

 or 
2

2

1

x

 oe  

2 

 

 
2 

B1 64p
u

q
v

 or kp
3

q
6

 

 

B1 
u

x2

1

 oe or 
2

1

kx

 oe 

 
15 

 
–3.44, 0.44  

 

correct working must be shown  

 
4 B1 for )3)(2(4)6(

2

−−  or better seen 

B1 if in form 

r

qorp )( −+

, for p = –6 and r = 2×2 oe 

B1, B1 (SC1 –3.4 or –3.436… and 0.4 or 0.436...) 

16 359 www 4 M1 π × 4
2

 or  
2

2

1

4×π  

M1 for 0.5 × π × 8 × 15 oe 

M1 for 8 × 15 + their 2 ends + their curved surface 

area  

17 (a) 

 

 

 (b) 

(4  10) 

 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−

−

21

43

2

1

oe  

2 

 

 

2 

B1 each element or correct without brackets   
B1 for 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

db

ca

2

1

 or 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−

−

21

43

k  seen  

 

18 (a)  
 (b) 

p – 
3

1

q oe 

 
2

1

p + 
6

5

q oe 

 

2  
2 ft 

M1 RXQR +  oe or –q + p + (

3

2

)q oe  

 

ft q + 
2

1

their (a) but must be vectors 

or M1 for QMOQ +  oe  

19 6(.00) www 4 M1 use of area = distance 

M1 complete, correct set of area statements, ignoring 

units  

M1 changing min to hours or km/h to km/min  
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 7.5(0)   cao 

2 M1 for

6.4

75.258

 

2 5.92 × 10
8 

2 M1 figs 592 on answer line 

or M1 296 × 10
6

   oe in working 

3 cos38   sin38   sin158   cos158 2 M1 correct decimals seen 

0.3(74..)   –0.9(271..)   0.7(88..)   0.6(15..) 

4 Answer given 3 M1

15

19

M1

15

6

or ×

6

15

seen 

   E1

6

1

3

6

19

==  

5 (a) 7853 to 7855  

 or 7850 or 7860   www 

2 M1 for π × 50
2

 

 (b) 0.7853 to 0.7855 or 0.785 or 0.786 1ft Their (a) ÷ 10 000 evaluated 

6 135   cao 3 M1 for 720 or (6 – 2) × 180   oe seen in working 

and M1 for equation 180 + 4x = their 720  

or  

M1 for (360 − 180) ÷ 4 (= 45)   oe seen in 

working 

and M1 dep for 180 − their 45 

7 (a) (y =) 80 1  

 (b) (z =) 40 1  

 (c) (t =) 10 1ft Follow through 90 − their y or 50 − their z 

8 2.81(25) 3 
M1 dkV =   or M1 ( )dkV =  

A1 k = 4.5 A1 k = 20.25 

9 (a) Correct perpendicular bisector with 

arcs 

2 B1 correct line 

B1 correct construction arcs 

 (b) 60° 1  

 

10 

 

0.38 or 

50

19

 

 

4 

 

B1 0.8, 0.6 or 0.55 then  

M1 0.45 × their 0.6   M1 0.2 × their 0.55  

or M2 1 – (0.45 × 0.4 + 0.55 × their 0.8) 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 35 2 M1 for 4 × 8 + 3 or 4 × 

4

3

8  

   

or 4 ×

2

1

8 + 1 or

15

525

or

15

510

+ 1 

   SC1 for answer 34 

2 (a + b)(x + y)
 

2 M1 x(a + b) + y(a + b) 

or M1 a(x + y) + b(x + y) 

3 (a) 6.25   cao 1  

 (b) 0.16   cao 1  

4 12375   cao 

12825   cao 

2 B1, B1   

If no marks scored give M1 for 27.5 and 28.5 seen
 

5 2

12

1

   cao   with correct working 3 M1 (1+)

12

3

12

4

12

6

++   oe   A1  (1)

12

13

 or 

12

25

oe 

6 37.5 3 M1 F = k/d 2   A1 k = 600 

7 a = –3 

b = 4 

3 M1 –3a + 4b = 25 

B1 one correct 

8 11.3 3 M2 22 × 1.852 × 1000/3600   oe 

or M1 22 × figs 1852 or 22 × 1000/3600 

9 (a) ( )12 −n  2 M1 ( )kn +2 or 2n – 1 

 (b) 57 or 7.55 1ft From their (a) 

10 

 ( )( )410

22

++

+

xx

x

  oe 
3 

 

B1 common denominator (x + 10)(x + 4)  oe seen

B1 3(x + 4) – (x + 10) seen   oe 

11 (a) –3 2 M1 1/2
3 

 or 2
–3

 

 (b) 1.5 2 M1 2
6n

 or 6n = 9 

12 80   www 4 M1 attempting area under the graph 

M1 large or small car area found correctly 

Dep M1 correct final area statement 

13 (a) 52 2 M1 OAB or OBA = 38 or OCT = 90 

 (b) 322 2 M1 BCT = 38 or BCO = 52 

 



IGCSE  Fractions and Algebraic Answers
10.
 

11. 

12. 

13. 

14. 

15.  

16. 

17. 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 35 2 M1 for 4 × 8 + 3 or 4 × 

4

3

8  

   

or 4 ×

2

1

8 + 1 or

15

525

or

15

510

+ 1 

   SC1 for answer 34 

2 (a + b)(x + y)
 

2 M1 x(a + b) + y(a + b) 

or M1 a(x + y) + b(x + y) 

3 (a) 6.25   cao 1  

 (b) 0.16   cao 1  

4 12375   cao 

12825   cao 

2 B1, B1   

If no marks scored give M1 for 27.5 and 28.5 seen
 

5 2

12

1

   cao   with correct working 3 M1 (1+)

12

3

12

4

12

6

++   oe   A1  (1)

12

13

 or 

12

25

oe 

6 37.5 3 M1 F = k/d 2   A1 k = 600 

7 a = –3 

b = 4 

3 M1 –3a + 4b = 25 

B1 one correct 

8 11.3 3 M2 22 × 1.852 × 1000/3600   oe 

or M1 22 × figs 1852 or 22 × 1000/3600 

9 (a) ( )12 −n  2 M1 ( )kn +2 or 2n – 1 

 (b) 57 or 7.55 1ft From their (a) 

10 

 ( )( )410

22

++

+

xx

x

  oe 
3 

 

B1 common denominator (x + 10)(x + 4)  oe seen

B1 3(x + 4) – (x + 10) seen   oe 

11 (a) –3 2 M1 1/2
3 

 or 2
–3

 

 (b) 1.5 2 M1 2
6n

 or 6n = 9 

12 80   www 4 M1 attempting area under the graph 

M1 large or small car area found correctly 

Dep M1 correct final area statement 

13 (a) 52 2 M1 OAB or OBA = 38 or OCT = 90 

 (b) 322 2 M1 BCT = 38 or BCO = 52 
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16 (a) lt 2=  2 M1 for lkt =  

 (b) 3 1ft Ft dependent on using lkt =  

17  (ii) 7 1  

  (ii) 4 1  

 (b) 

13

7

   oe 1ft Ft their Venn diagram or their (a)(i)/13 

18 

( )xx

xx

21

51
2

−

+−

or 
2

2

2

51

xx

xx

−

+−

 

4 M1 for (1 – x)(1 – 2x) – x(2 + x) seen 

B1 for 1 – x – 2x + 2x
2

 or 1 – 3x + 2x
2

 seen 

B1 for x(1 – 2x) oe as a common denominator  

19 4.32  4 M1 for
2

9

360

50

×π×  

   M1 for 0.5 × 9
2 

× sin 50 

M1 for subtracting their triangle from their 

sector (dependent on at least M1) 

20 (a) (i) 2 × 2 1  

  (ii) (20) 1 Brackets essential 

 

(b) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−

−

22

34

2

1

  oe 2 M1 for 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

dc

ba

2

1

   or 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−

−

22

34

k  seen 

21 (a) 84(.00..) 4 M2 for cos (…) =

5.47.22

55.47.2
222

××

−+

or 

   (M1 for 5
2

 = 2.7
2

 + 4.5
2

 – 2 × 2.7 × 4.5 × cos C ) 

A1 for 0.1045… (implied by correct answer) 

 (b) 136 1ft 220 – their (a) 

22 (a) Angles in same segment 1  

 (b) (i) 8.2(0) 2 M1 for

4.4

4.9

84.3

=

CX

(= 2.136)   oe 

  (ii) 24.7 2 M1 for

2

4.4

4.9

41.5

⎟

⎠

⎞
⎜

⎝

⎛
=

∆
(= 4.564)   oe 

23 (a) 0.133 (3…) or 

15

2

 2 M1 for 40 ÷ 300 seen 

 

(b) 33

3

1

 or 33.3    

 

3 

 

M1 for area under graph attempted 

M1 for correct total area statement 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Marks 

1 –16 2 M1 for 4 × 6.5  

 
2 [0].852 or 

27

23

 

 
2 

 

B1 for 85.56 or 

25

2139

 

3 (a) 3 

 

(b) 4 

1 

 

1 

 

 

 
4 

2

5

9

17

or  

2

5

9

17

÷  

 

45

34

5

2

9

17

=×  

 

  
M1 

 

  
M1 

18

45

18

34

or  

18

45

18

34

÷  

 

45

34

45

18

18

34

=×  

5 a
(1)

 – b
(1)

   www  cao 2 M1 for a
½ 

a
½

 – a
½ 

b
½

 + a
½

b
½

 – b
½

b
½

 oe 

6 144 2 M1 for ABC = 72 or AOC reflex = 216 

Angles must be fully stated or marked in 

correct place on diagram 

7 16 2 M1 for 768 ÷ 48  

8 543.19 3 

 

M2 for 500 × 1.028
3 

oe or long method 

or M1 for 500 × 1.028
n 

, n = 2 or 4 

9 x Y 39 www 3 M1 correct first move   

M1 correct 2nd move  

M1 correct move to answer line 

10 70 3 B1 24.5 or 0.35 seen 

M1 their LB ÷ their UB  

11 2.5 

 

3 M1 R = k/d
2

 A1 k = 40 

or M1 Rd
2

 = k A1 k = 40 

12 112 or 112.3 to 112.33
 

3 M2 for π × 6
2

 – π × 0.5
2 

or M1 for π × 6
2

 or π × 0.5
2

 seen 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 
1 

 

96 

 
2 M1 for 

100

82600 ××

 oe  

If zero SC1 696 

 
2 

100

1

+

25

4

 or 0.1
2

 + 0.4
2

 oe 

100

1

+ 

100

16

= 0.17 or 0.01 + 0.16 = 0.17
 

 
M1  
M1 

 

     
Independent  

 
3 

 

 

180 

 
2 M1 for  

20

12300×

oe 

4 3y – y
4

 final answer
 

2 B1 for  3y  or  – y
4

 as part of two term expression 

5 88.2(0) 2 M1 for 84 × 1.05 oe 

6 Accurate perpendicular bisector of RT with 

arcs. 

2 B1 for 2 pairs of correct arcs 

B1 for correct line 

7 8.471 cao 2 
B1 for 8.47 or 8.4705 to 8.4706 or 

17

144

 or 
17

8

8  

8 249.5 [Y j<=] 250.5 cao 2 B1 for either, or both correct but reversed 

 

9 

 

 

 

 

 

 

2 

 

B1 for one correct 

10 Correct working seen 2 M1 for correct step M1 for correct step 

11 4w
64

 2 B1 for 4w
n

 or kw
64 

12 40 6
 

2 B1 for one correct 

13 23 – 2x 

   12 

3 M1 for two correct algebraic fractions with a 

common denominator of 12 

M1 for correctly collecting their terms   

M1 for dealing correctly with the 1  

14 3, –3 or ±3 3 M1 for y = k/√x oe  A1 for 18 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

Qu. Answers Mark Part Marks 

1 20 (but 3, 4 and 8 must be seen www) 2 M1 3, 4 and 8  seen www 

2 1.2496 cao 2 Allow 1

625

156

 

M1 1 + 0.2 + 0.04 + 0.008 + 0.0016  

3 2 2 M1 3x – 1 – 3x + 3 

4 0.9
3

  0.9
2

  9.0   
3

9.0  2 M1 0.94(8683…)  0.96(5489….)  0.8(1) 0.7(29) 

5 (a) 5 

 

(b) 2 

1 

 

1 

 

6 1.15(2) × 10
–2 

2 M1 figs 115(2) 

7 

x

x

2

5 +

 2 M1 4 + 1 + x   seen 

or M1 

x

x

4

210 +

 oe 

8 40.5  2 M1 6.75 seen or 6 × their LB   

9 $674.92, 674.9(0) or 675  3 M2 600 × (1 + (4/100))
3

 or better     oe 

or M1 600 × 1.04
2

  oe  

10 x = 4     y = –3  3 M1 consistent mult and sub/add 

A1 one correct value but M must be scored 

11 
D P C

1
2 3

A O B

0

2

2
11

 

3 Marks allocated for R in one of the regions shown 

12 
x = +/- √(5y) – 3 

or x = +/- y5  – 3 

3 M1 correct move of the 5 completed   

M1 correct move of the square completed 

M1 correct move of the 3 completed 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working  
Qu. Answers Mark Part Marks 

1 (a) 5 

 

(b) 0 

1 

 

1 

2 10  2 M1 33 – 25 

or 38 – 30 

M1 30 – 15 – 5 oe 

with no further working 

3 

uv

J

m

−

=  2 M1 m(v – u) seen
 

4 (a) 40 

 

(b) 65 

1 

 

1 

 

5 23.6 2 M1 sin R = 20/50 or 

90sin

50

sin

20

=

R

 

6 (a) 6.58 × 10
–3 

 

(b) 0.0066 cao 

1 

 

1 

× and 10 essential 

 

Allow 6.6 × 10
–3

  

7 t = 2

2

1

 2 M1 (b)t = (b)(3t – 5) 

8 Answer given so only working scores 

marks  

2 M1 7/27 + 48/27 or 7/27 + (1)21/27                    

M1 completely correct finish  

9 2390 

2410   

2 

 

M1 119.5 and 120.5  

or B1 for one correct answer 

10 60 3 B1 540 used 

M1 [their 540 – 3 × 140]/2   

11 128 3 

 

M1 R = kv
2

    

A1 k = 

2

1

 

12 

)2)(1(

7

+−

−

xx

x

 3 M1 3(x – 1) – 2(x + 2) seen 

B1 denominator correct seen 

A1 all correct   
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working  
Qu. Answers Mark Part Marks 

1 (a) 5 

 

(b) 0 

1 

 

1 

2 10  2 M1 33 – 25 

or 38 – 30 

M1 30 – 15 – 5 oe 

with no further working 

3 

uv

J

m

−

=  2 M1 m(v – u) seen
 

4 (a) 40 

 

(b) 65 

1 

 

1 

 

5 23.6 2 M1 sin R = 20/50 or 

90sin

50

sin

20

=

R

 

6 (a) 6.58 × 10
–3 

 

(b) 0.0066 cao 

1 

 

1 

× and 10 essential 

 

Allow 6.6 × 10
–3

  

7 t = 2

2

1

 2 M1 (b)t = (b)(3t – 5) 

8 Answer given so only working scores 

marks  

2 M1 7/27 + 48/27 or 7/27 + (1)21/27                    

M1 completely correct finish  

9 2390 

2410   

2 

 

M1 119.5 and 120.5  

or B1 for one correct answer 

10 60 3 B1 540 used 

M1 [their 540 – 3 × 140]/2   

11 128 3 

 

M1 R = kv
2

    

A1 k = 

2

1

 

12 

)2)(1(

7

+−

−

xx

x

 3 M1 3(x – 1) – 2(x + 2) seen 

B1 denominator correct seen 

A1 all correct   
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24 (a) 

xy

yx 2−

 2 B1 correct numerator 

B1 correct denominator 

 

(b) 

3

x

 www 3 M1 x(x + 1)   M1 3(x + 1) 

25 (a) –3 2 B1 g(

2

1

) = 2 or fg(x) = 

x

2

 – 7 oe 

 

(b) 

72

1

−x

 1 

 

 

(c) 

2

7+x

 2 M1 for y + 7 = 2x or x = 2y – 7 

 


